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Learning Characteristics
Some of the important characteristics of learning are as given below:

1. Learning is Unitary: It implies that the learner reacts as a whole persons to the whole situation in a unified
way. It means that the learner responds intellectually, emotionally. physically and spiritually at the same time.
This attitude helps in the achievement of educational goals.

Development of skills: A skill is a learned activity that one develops through practice and reflection. It 1s the
ability to perform a learned activity well and at will. Skill, as an ability to perform something. includes
proficiency. competence. and expertise in the activity. Skall refers to learning psycho-motor behaviours
required in the activities such as driving a car or swinging a tennis racket. The development of skills entails the
following stages:

a. Cognitive Stage: Achieved through declarative knowledge

b. Associative Stage: Combining individual steps into larger units

c. Automated Stage: Where the whole procedure can be accomplished without much attention. In the last
stage. the brain process shifts from reflective to reflexive.

Development of Attitudes: Attitude 1s mental state held by an individual which affects the way that person
responds to events and organizes responses. Attitudes are commonly held to have three essential components
or dimensions:

1. A Cogmitive Dimension: Beliefs and rationalizations which explains the holding of the attitudes

1. An Affective Dimension: Emotional aspects of attitudes, such as likes. dislikes. feeling of distaste, and

111. A Conative or Behavioural Dimension which mvolves the extent to which the individual are prepared to
act on the attitude that they hold.

2. Learning may be planned or unplanned

3. Learning can be active as well as passive

4. Learning is usually individual. but it can also be collectively generated in groups

5. Learning is treated both as a process and as an outcome learning is life long process

6. Learning may be incremental-it may add cumulatively to the prior learning or transformation
7. Learning can be stimulated or triggered by any experience. failure. success, and anything else.

Sub questions

Question Number : 1 Question Id : 68634017927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The synonyms of 'unitary’' are:

A. Plenary

B. Unabridged
C. Deficient
D. Outright

Choose the correct option:

l.Aand D
2.A.Band C
3.A BandD
4. AandD

Options :

68634070801. 1

68634070802. 2

68634070803. 3
68634070804. 4

Question Number : 2 Question Id : 68634017928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the statements carefully and answer.

Statement I: Unitary learning refers to the reaction of the whole person to the whole situation who facilitates
learning.

Statement IT: Skill refers to learning psycho-motor behaviours in different activities.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II 1s false

4. Statement [ 15 false but Statement II 1s true

Options :

68634070805. 1
68634070806. 2
68634070807. 3
68634070808. 4

Question Number : 3 Question Id : 68634017929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a dimension of attitude?

1. Beliefs and rationalization

[

. Emotional aspects

L]

. Conative dimension
4. Active and passive dimension

Options :

68634070809. 1
68634070810. 2
68634070811. 3
68634070812. 4

Question Number : 4 Question Id : 68634017930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If analysis: dissection. then synthesis: ?
A. disintegration
B. integration

C. coalescence
D. differentiation

Choose the appropriate answer:
l.LAand C
2.Aand D
3. Band C

4. Cand D

Options :

68634070813. 1
68634070814. 2
68634070815. 3
68634070816. 4

Question Number : 5 Question Id : 68634017931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the true about learning?

A. Tt is active as well as passive.

B. Learning is always individual in nature.

C. It can be added cumulatively to the prior learning.
D. It can be stimulated by only negative experiences.

Choose the correct answer from the options given below:
l.Aand B
2. Aand C
3.Band C

4. A BandD

Options :

68634070817. 1
68634070818. 2
68634070819. 3
68634070820. 4

Question Id : 68634017926 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Learning Characteristics
Some of the important characteristics of learning are as given below:

1. Learning is Unitary: It implies that the learner reacts as a whole persons to the whole situation in a unified
way. It means that the learner responds intellectually, emotionally. physically and spiritually at the same time.
This attitude helps in the achievement of educational goals.

Development of skills: A skill is a learned activity that one develops through practice and reflection. It 1s the
ability to perform a learned activity well and at will. Skill, as an ability to perform something. includes
proficiency. competence. and expertise in the activity. Skall refers to learning psycho-motor behaviours
required in the activities such as driving a car or swinging a tennis racket. The development of skills entails the
following stages:

a. Cognitive Stage: Achieved through declarative knowledge

b. Associative Stage: Combining individual steps into larger units

c. Automated Stage: Where the whole procedure can be accomplished without much attention. In the last
stage. the brain process shifts from reflective to reflexive.

Development of Attitudes: Attitude 1s mental state held by an individual which affects the way that person
responds to events and organizes responses. Attitudes are commonly held to have three essential components
or dimensions:

1. A Cogmitive Dimension: Beliefs and rationalizations which explains the holding of the attitudes

1. An Affective Dimension: Emotional aspects of attitudes, such as likes. dislikes. feeling of distaste, and

111. A Conative or Behavioural Dimension which mvolves the extent to which the individual are prepared to
act on the attitude that they hold.

2. Learning may be planned or unplanned

3. Learning can be active as well as passive

4. Learning is usually individual. but it can also be collectively generated in groups

5. Learning is treated both as a process and as an outcome learning is life long process

6. Learning may be incremental-it may add cumulatively to the prior learning or transformation
7. Learning can be stimulated or triggered by any experience. failure. success, and anything else.

Sub questions

Question Number : 1 Question Id : 68634017927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The synonyms of 'unitary’' are:

A. Plenary

B. Unabridged
C. Deficient
D. Outright

Choose the correct option:

l.Aand D
2.A.Band C
3.A BandD
4. AandD

Options :

68634070801. 1

68634070802. 2

68634070803. 3
68634070804. 4

Question Number : 2 Question Id : 68634017928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the statements carefully and answer.

Statement I: Unitary learning refers to the reaction of the whole person to the whole situation who facilitates
learning.

Statement IT: Skill refers to learning psycho-motor behaviours in different activities.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II 1s false

4. Statement [ 15 false but Statement II 1s true

Options :

68634070805. 1
68634070806. 2
68634070807. 3
68634070808. 4

Question Number : 3 Question Id : 68634017929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a dimension of attitude?

1. Beliefs and rationalization

[

. Emotional aspects

L]

. Conative dimension
4. Active and passive dimension

Options :

68634070809. 1
68634070810. 2
68634070811. 3
68634070812. 4

Question Number : 4 Question Id : 68634017930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If analysis: dissection. then synthesis: ?
A. disintegration
B. integration

C. coalescence
D. differentiation

Choose the appropriate answer:
l.LAand C
2.Aand D
3. Band C

4. Cand D

Options :

68634070813. 1
68634070814. 2
68634070815. 3
68634070816. 4

Question Number : 5 Question Id : 68634017931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the true about learning?
A. Tt is active as well as passive.
B. Learning is always individual in nature.

C. It can be added cumulatively to the prior learning.
D. It can be stimulated by only negative experiences.

Choose the correct answer from the options given below:
l.Aand B
2. Aand C
3.Band C

4. A BandD

Options :

68634070817. 1
68634070818. 2
68634070819. 3
68634070820. 4

Sub-Section Number : 2
Sub-Section Id : 686340593
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634017932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the appropriate meaning of the foreign word: ultra vires
1. Beyond one's authority
2. Super virus
3. Excellent
4. Under consideration

Options :

68634070821. 1
68634070822. 2
68634070823. 3
68634070824. 4

Question Number : 6 Question Id : 68634017932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the appropriate meaning of the foreign word: ultra vires
1. Beyond one's authority

. Super virus

[

3. Excellent

4. Under consideration

Options :

68634070821. 1
68634070822. 2
68634070823. 3
68634070824. 4

Question Number : 7 Question Id : 68634017933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Synonym of the word 'Aversion' is:
1. Dislike
2. Audacious
3. Desolate
4. Alleviate
Options :
68634070825. 1
68634070826. 2

68634070827. 3
68634070828. 4

Question Number : 7 Question Id : 68634017933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Synonym of the word 'Aversion' is:
1. Dislike
2. Audacious
3. Desolate
4. Alleviate
Options :

68634070825. 1
68634070826. 2



68634070827. 3
68634070828. 4

Question Number : 8 Question Id : 68634017934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions given in order from the options given below:
Tust days before the Russian invasion Ukraine, Moscow's forces massing
the border, officials in the medieval town of Lutzen, Germany, afforded landmark status

a Sovietera world war I memorial standing outside a kindergarden in the town center.

1. in. with. of. for

| ]

. in, to. on. with
3. of with. on. to
4. of, on. to. in

Options :

68634070829. 1
68634070830. 2
68634070831. 3
68634070832. 4

Question Number : 8 Question Id : 68634017934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions given in order from the options given below:
Tust days before the Russian invasion Ukraine, Moscow's forces massing
the border, officials in the medieval town of Lutzen, Germany, afforded landmark status

a Sovietera world war I memorial standing outside a kindergarden in the town center.

1. in. with. of. for

| ]

. in, to. on. with
3. of with. on. to
4. of, on. to. in

Options :

68634070829. 1
68634070830. 2
68634070831. 3
68634070832. 4

Question Number : 9 Question Id : 68634017935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



One word substitution for 'Connected with the brain' 1s:
1. Celestial
2. Cardiac
3. Cercbral

4. Carnival

Options :

68634070833. 1
68634070834. 2
68634070835. 3
68634070836. 4

Question Number : 9 Question Id : 68634017935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
One word substitution for 'Connected with the brain' is:
1. Celestial
2. Cardiac

3. Cerebral

4. Carnival

Options :

68634070833. 1
68634070834. 2
68634070835. 3
68634070836. 4

Question Number : 10 Question Id : 68634017936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with suitable words given below.

Stuti a bit she was not invited by her friend to attend the party.

1. expressed. than

b2

. surprised. about
3. grumbled, when

4, took. before

Options :
68634070837. 1



68634070838. 2
68634070839. 3
68634070840. 4

Question Number : 10 Question Id : 68634017936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with suitable words given below.

Stuti a bit she was not invited by her friend to attend the party.

1. expressed. than

| B)

. surprised. about
3. grumbled, when

4, took. before

Options :

68634070837. 1
68634070838. 2
68634070839. 3
68634070840. 4

Question Number : 11 Question Id : 68634017937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 boys and 5 girls can complete one work in 8 days. 7 boys can complete the work in 4 days. Number of girls
required to finish the work in half day is:

1. 940
2. 280
3. 560
4,412
Options :
68634070841.
68634070842.

68634070843.
68634070844.

A W N =

Question Number : 11 Question Id : 68634017937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 boys and 5 girls can complete one work in 8 days. 7 boys can complete the work in 4 days. Number of girls
required to finish the work in half day is:

1. 940

|

. 280
3. 560
4.412

Options :

68634070841. 1
68634070842. 2
68634070843. 3
68634070844. 4

Question Number : 12 Question Id : 68634017938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁcnf4[]5’»13 Donf156= ?

1.152.6

| )
-1
[
[# 5}

3.384
4.54.63

Options :

68634070845. 1
68634070846. 2
68634070847. 3
68634070848. 4

Question Number : 12 Question Id : 68634017938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

§0f40% DfEDflf"(i: ?
3 39 —
1.152.6
2.76.8
3.384

4. 54.63



Options :

68634070845. 1
68634070846. 2
68634070847. 3
68634070848. 4

Question Number : 13 Question Id : 68634017939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- 3 .
The area of the circular round shown as 92 © m* then value of r 1s:

1.18m

.\.l'ﬁm

3.22m

[

4, 22 m

Options :

68634070849. 1
68634070850. 2
68634070851. 3
68634070852 4

Question Number : 13 Question Id : 68634017939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= 2 N
The area of the circular round shown as 92 7 m* then value of r is:

1.18m

.\[ﬁm

3.22m

| )

4. 22 m

Options :

68634070849. 1
68634070850. 2
68634070851. 3
68634070852. 4

Question Number : 14 Question Id : 68634017940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
108° —104° _ :
32° - 28’

1.3.26

| ]

.3-29
.3.53
4.3.62

Options :

68634070853. 1
68634070854. 2
68634070855. 3
68634070856. 4

Question Number : 14 Question Id : 68634017940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



108° —104° _ ;
32% - 28’

1.3.26

| ]

.3.29

393
4.3.62

Options :

68634070853. 1
68634070854 2
68634070855. 3
68634070856. 4

Question Number : 15 Question Id : 68634017941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average of first 50 terms of the given series 1.3.5.7 18:

1.

=Y
n

[ )
L
[~

L]
|
n

4. 100

Options :

68634070857. 1
68634070858. 2
68634070859. 3
68634070860. 4

Question Number : 15 Question Id : 68634017941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average of first 50 terms of the given series 1.3.5.7 18:

1.

=Y
n

[ )
L
[~

Lad
-1
i

4. 100

Options :
68634070857. 1



68634070858. 2
68634070859. 3
68634070860. 4

Question Number : 16 Question Id : 68634017942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Next number in the given series
27,64, 125, 216, 343, 1s:

1.416

[ ]
]
[y
[

3. 686
4. 559

Options :

68634070861. 1
68634070862. 2
68634070863. 3
68634070864. 4

Question Number : 16 Question Id : 68634017942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Next number in the given series
27,64, 125, 216, 343, 1s:

1.416

[ ]
]
[y
[

3. 686
4. 559

Options :

68634070861. 1
68634070862. 2
68634070863. 3
68634070864. 4

Question Number : 17 Question Id : 68634017943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Problem figure is embedded in which of the following alternatives?

Problem figure

2

Options :

68634070865. 1
68634070866. 2
68634070867. 3
68634070868. 4

Question Number : 17 Question Id : 68634017943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Problem figure is embedded in which of the following alternatives?

Problem figure

2

Options :

68634070865. 1
68634070866. 2
68634070867. 3
68634070868. 4

Question Number : 18 Question Id : 68634017944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

BLOCKED is related to YOLXPVW in the same way as OZFMXS is related to

1. LAUNCH

b2

. DEBATE
3. RESULT

4 LABOUR

Options :

68634070869. 1
68634070870. 2
68634070871. 3
68634070872. 4



Question Number : 18 Question Id : 68634017944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

BLOCKED is related to YOLXPVW 1 the same way as OZFMXS 1s related to

1. LAUNCH

2

. DEBATE
3. RESULT

4. LABOUR

Options :

68634070869. 1
68634070870. 2
68634070871. 3
68634070872. 4

Question Number : 19 Question Id : 68634017945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing towards a girl, Anand said "This girl is the daughter of a only child of my father". What 1s the relation
of Anand's wife to that girl?

1. Daughter

| )

. Mother
3. Aunt
4. Sister

Options :

68634070873. 1
68634070874. 2
68634070875. 3
68634070876. 4

Question Number : 19 Question Id : 68634017945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pointing towards a girl, Anand said "This girl is the daughter of a only child of my father". What 1s the relation
of Anand's wife to that girl?

1. Daughter
2. Mother
3. Aunt

4. Sister

Options :

68634070873. 1
68634070874. 2
68634070875. 3
68634070876. 4

Question Number : 20 Question Id : 68634017946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a joint family of seven persons A, B, C, D. E, F and G, how B is related to E?
Given that -

A. There are two married couples

B. G is a house wife and her husband in a lawyer

C. C is the wife of B. A 1s an engineer and grand daughter of G'
D. D is the father-in-law of C. a doctor and father of E. a professor
E. F 1s A's brother and B's son

Choose the correct answer from the options given below:
1. Sister
2. Uncle
3. Cousin

4. Brother

Options :

68634070877. 1
68634070878. 2
68634070879. 3
68634070880. 4

Question Number : 20 Question Id : 68634017946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a joint family of seven persons A, B. C, D. E. F and G, how B is related to E?
Given that -

A. There are two married couples

B. G i3 a house wife and her husband in a lawyer

C. C is the wife of B. A 1s an engineer and grand daughter of G'

D. D is the father-in-law of C. a doctor and father of E. a professor
E. F 1s A's brother and B's son

Choose the correct answer from the options given below:

1. Sister

| ]

. Uncle

L¥%]

. Cousin
4. Brother

Options :

68634070877. 1
68634070878. 2
68634070879. 3
68634070880. 4

Question Number : 21 Question Id : 68634017947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The first Indian, who win the Noble Prize. is:
1. C.V. Raman
2. Amritaya Sen
3. Rabindra Nath Tagore

4. Chandershelhar Subramaniam

Options :

68634070881. 1
68634070882. 2
68634070883. 3
68634070884. 4

Question Number : 21 Question Id : 68634017947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The first Indian. who win the Noble Prize. is:

1. C.¥. Raman

[ ]

. Amritaya Sen

L]

. Rabindra Nath Tagore

4. Chandershelhar Subramaniam

Options :

68634070881. 1
68634070882. 2
68634070883. 3
68634070884. 4

Question Number : 22 Question Id : 68634017948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the founding members of OPEC in 1960.

AL Qatar

B. Iran

C. Iraq

D. Kuwait

E. Saudi Arabia
F. Venezuela

Choose the correct answer from the options given below:
1.B.C.D.E and F only
2.A B.C.DandE only
3.A.B.D.E and F only

4. A, C.D.E and F only

Options :

68634070885. 1
68634070886. 2
68634070887. 3
68634070888. 4

Question Number : 22 Question Id : 68634017948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the founding members of OPEC in 1960.

AL Qatar

B. Iran

C. Irag

D. Kuwait

E. Saudi Arabia
F. Venezuela

Choose the correct answer from the options given below:
1.B.C.D.E and F only
2.A B.C.DandE only
3.A.B.D.E and F only

4. A, C.D.E and F only

Options :

68634070885. 1
68634070886. 2
68634070887. 3
68634070888. 4

Question Number : 23 Question Id : 68634017949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which 1s the largest Upanishad?

1. Brihadara nyaba

[ )

. Chadogya

%]

. Aitareya
4. Katho

Options :

68634070889. 1
68634070890. 2
68634070891. 3
68634070892. 4

Question Number : 23 Question Id : 68634017949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which 1s the largest Upanishad?

1. Brihadara nyaba

[

. Chadogya

L]

. Aitareya
4. Katho

Options :

68634070889. 1
68634070890. 2
68634070891. 3
68634070892. 4

Question Number : 24 Question Id : 68634017950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Arbitration 1s defined as:
1. the settlement of labour disputes that takes place between employer and the employees
2. the settlement of disputes between different companies of a large organisation
3. the accounting for expenses or charges as applicable rather than as paid
4. the indicator of self sufficiency of a country
Options :
68634070893. 1
68634070894. 2

68634070895. 3
68634070896. 4

Question Number : 24 Question Id : 68634017950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Arbitration 1s defined as:
1. the settlement of labour disputes that takes place between employer and the employees
2. the settlement of disputes between different companies of a large organisation
3. the accounting for expenses or charges as applicable rather than as paid
4. the indicator of self sufficiency of a country
Options :

68634070893. 1
68634070894. 2



68634070895. 3
68634070896. 4

Question Number : 25 Question Id : 68634017951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Year 2023 is celebrated as International Year of.

1. Plant Health

| )

. Millets
3. Save Earth
4. Sustainable Development
Options :
68634070897. 1
68634070898. 2

68634070899. 3
68634070900. 4

Question Number : 25 Question Id : 68634017951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Year 2023 1s celebrated as International Year of.
1. Plant Health
2. Millets
3. Save Earth
4. Sustamable Development
Options :
68634070897. 1
68634070898. 2

68634070899. 3
68634070900. 4

Part B: Forensic Science

Section Id : 686340356
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Response : Yes



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 686340594
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634017952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In Forensic cases. comparison of unknown with known samples leads to discrimination or
otherwise.

Statement IT: Exclusion through comparison is easier than that of inclusion.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT 1s correct

Options :

68634070901. 1
68634070902. 2
68634070903. 3
68634070904. 4

Question Number : 26 Question Id : 68634017952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR HERumE:
FYF 1: DPRIGS T 5. J1d 751 & 91 31d B o1 & URUTHEEY 3ud] faama: [qued garg
SYT IL: AT & AT HUgwi-, GHERH BT T A S g
SWRIdd HYF & 3 J, 1= f3u T fawedi & I Fel 3ok &1 99 SIft:
1. HU 1 IR G TT &
YA 1 IR 11 ST ST §

PYTI A S, Alh PUTII T &

| )

Lag

PYTI A T, AP B I T ©

=

Options :
68634070901. 1
68634070902. 2



68634070903. 3
68634070904. 4

Question Number : 27 Question Id : 68634017953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Acronyms 'NCRB' stands for which of the followimng?

1. National Crime Record Bioz

2

. National Crime Record Band
3. National Crime Record Bureau
4. National Crime Record Board

Options :

68634070905. 1

68634070906. 2

68634070907. 3
68634070908. 4

Question Number : 27 Question Id : 68634017953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gixaull Tsg NCRB' FEfRad fege! faxga =ag?
1. 99d wigH Rars fgai
A HgH RaTs §is

A H1H ReTs &R

| )

L

4, SR BI5H Rars dis

Options :

68634070905. 1
68634070906. 2
68634070907. 3
68634070908. 4

Question Number : 28 Question Id : 68634017954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Physical evidence contains which of the following?

1. Only tangible items

b2

. Only intangible items

L¥ 5]

. All tangible and intangible items
4. Only those items which are visible to investigator

Options :

68634070909. 1
68634070910. 2
68634070911. 3
68634070912. 4

Question Number : 28 Question Id : 68634017954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ifd H1eg & -avid Fafrad $H-91 74 Sifed o1 &l 82
1. e 7 axqU
2. Tae ST a%y

3. gl g4 SR rgd g
4. e 3§ TEIY S SFAYE & 7Y TRHHE Bl §

Options :

68634070909. 1
68634070910. 2
68634070911. 3
68634070912. 4

Question Number : 29 Question Id : 68634017955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Probability of transfer of traces is very low in general.

Reason R: Locard's Principle of mutual exchange states about the transfer from one object to another.
In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R 18 NOT the correct explanation of A
3. A is true but R 1s false

4. A is false but R is true

Options :

68634070913. 1
68634070914. 2
68634070915. 3
68634070916. 4

Question Number : 29 Question Id : 68634017955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gl YA AU T §, U SHIUDHUA (Assertion A) P & H [H1REd ¢ Al gERT 39 BRI (Reason R) &
U

STUTUT A: HRHl & RIHRY B YS!, FHI: 950 $H ol 6

WR:T@%WWWI?WW@@Wq%gﬂﬁ@mmamB’ﬁﬁiaﬁﬁsc—a@
fear gl

SRI DY & HTalid 1, H1d 2y 7Y fdeedi T I 99 Sugad SR &1 99 B
1. A SR R 31 981 § AR R. A P Hel oUraAT 8
2. A SRR GHI UEI § IR R. A DI Uel A 61 &
3. ATSI R O R TR
4, ATEI TR S AT R WSl &

Options :

68634070913. 1
68634070914. 2
68634070915. 3
68634070916. 4

Question Number : 30 Question Id : 68634017956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RAW is a Government agency to collect the intelligence at which of the following?

1. State-level

b2

. International-level

L¥ 5]

. National-level

4. Central Cabinet level

Options :

68634070917. 1
68634070918. 2
68634070919. 3
68634070920. 4

Question Number : 30 Question Id : 68634017956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BRI T I RS 58 WR ¥ Sga-1 g2 gq Sided 82
1. Iqog-FR 8
2. FRIPI 'R
3P TR
4, DY AfGHIST TR I

Options :

68634070917. 1
68634070918. 2
68634070919. 3
68634070920. 4

Question Number : 31 Question Id : 68634017957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Chain of custody of collected evidences from the scene of crime is very important.
Statement IT: Every investigating officer should be aware of the significance of chain of custody.

In the light of the above statements. choose the most appropriate answer from the options grven below:

1. Both Statement I and Statement IT are correct

| )

. Both Statement I and Statement IT are incorrect

3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct



Options :

68634070921. 1
68634070922. 2
68634070923. 3
68634070924. 4

Question Number : 31 Question Id : 68634017957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S ECARICA TR
FYT I: IRV I Uo7 B 7T 167 e B AR g5 Hewyol eidi 8|
YT I1: TS a0 HYHRT DI &g 2Raal & Hewd & Uid Fau (SFR=d) 8- J1isU]|
IIRIGd Y & e H, i< fGU T fasedi & 9 9et Iox &1 90 HIoIT;
1. HYF 1 R 11 G T &
2. BYA 1 SR 11 ST ST §

3. PYTI I 8, AT DY I 3T &

4. PYTI 3T S, afpT YT I 9d &

Options :

68634070921. 1
68634070922. 2
68634070923. 3
68634070924. 4

Question Number : 32 Question Id : 68634017958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Request standards have no linits of amount of writing.

Statement IT: Request standards may not be contemporary always.

In the light of the above statements. choose the most appropriate answer from the options grven below:

1. Both Statement I and Statement IT are correct

| )

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634070925. 1
68634070926. 2
68634070927. 3



68634070928. 4

Question Number : 32 Question Id : 68634017958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 3l By fGU U
Y 1: Tifd (@) 931 § 0E- &1 937 Gadt dig IEr el gl o
YA 11: Tifad (1) 9FE Jod Y91 ol 8l 9ad o
SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:
1. FYF RIS T &
2. BYF1 IR 11 ST AT

3. PU 1 UA €. A S 11 3T ©

4 PYTI IR, AT P I Ta B

Options :

68634070925. 1
68634070926. 2
68634070927. 3
68634070928. 4

Question Number : 33 Question Id : 68634017959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: The degree of reddish to purple discoloration of the skin after death may help to estimate
approximate time since death.

Reason R: It is co-related with the degree of rigor mortis. body temperature and other postmortem chemical
changes in the blood and body fluids.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R are correct but R is not the correct explanation of A
3. A 1s correct but R is not correct

4. A is not correct but R is correct

Options :

68634070929. 1
68634070930. 2
68634070931. 3
68634070932. 4



Question Number : 33 Question Id : 68634017959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HYA AU U §, UF @Y (Assertion A) P =9 [Ed § T g8 39% BRI (Reason R) &
0T

HTUFUT A: JARI. &1 BT Ard Y S-S 81 9 &1 W81, G & Fiade (Faa) 99 &1 S
T T 9ETa® gl 9l

BRI R: 98 GG P39, IXR & q99H U4 G 3R IRINS Gl § 30 Wa-HI&T Sa¢ I9atd
ORacH @1 AT ¥ F8-Haled 81dl o

SWRIGI BYH & H1ciid H, i f3U U fdsedi T I 9 Sugad SR &1 94+ S
1. A 3R R 31 91 § SRR, A P! Hel URAT &

A SRR O € SRR, A T TE e T @

AT AR TN AL

ATEITE g AfPTR WE ©

Options :

68634070929. 1
68634070930. 2
68634070931. 3
68634070932. 4

| )

Lag

=

Question Number : 34 Question Id : 68634017960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A | Crime scene barricade | 1. | To know the location
B. |First aid kit II. | To determine the direction
C. |Maps I11. | To protect the crime scene
D. | Compass IV. | To give preliminary treatment]

Choose the correct answer from the options given below:
1. A-I, B-III. C-II. D-IV
2. AL, B-IV. C-1. D-II
3. A-IL B-III. C-IV, D-I
4. A-IIL B-1V. C-II, D-I

Options :
68634070933. 1



68634070934. 2
68634070935. 3
68634070936. 4

Question Number : 34 Question Id : 68634017960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
Al 1 = 11

e slies| I [RE S

TS SUeIR fave] 11 [z RuiRd &3 e
AERE @) |1 R ®f gRIed & o
g IV, [ 399K &4 2

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-I. B-III. C-II. D-IV

o|o]w]s

| o

AL B-IV. C-1, D-I1
3. A-II, B-III, C-IV. D-I
4. A-I11, B-IV. C-I1, D-I

Options :

68634070933. 1
68634070934 2
68634070935. 3
68634070936. 4

Question Number : 35 Question Id : 68634017961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A | High velocity impact blood spatter I. | Castoff pattern
Beating and stabbing events, resulting
B. |in blood droplets size rangel-3 mm in | II. | Gunshot injury
diameter
C The patterns created with subsequent 1 Splashed blood
" [blows to the same general arca " | stain pattern
Quantity of blood in excess of 10 mlis
D subjected to minor or low velocity i | nparespnter
" | forces or 1z allowed to freely fallto a :
surface

Choose the correct answer from the options given below:

1. A-I1. B-1. C-II1. D-IV
2. A-TV. B-11. C-1. D-III
3. A-IL B-TV. C-1. D-III
4. A-IIL B-IV. C-I1. D-I

Options :

68634070937. 1

68634070938. 2

68634070939. 3
68634070940. 4

Question Number : 35 Question Id : 68634017961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey
il T

A [3I9T HYTd Yad THId I [gugsIn Uide=y

UeTs ud 91 U TG+ arcl gel
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" [STaTHIER 31 ¥ B G B - [T el A g e
g U1 Bidl &
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|
fafafad fawedl O O 98t IR &1 994 I -

1. A-II. B-I. C-II. D-IV

2. A-IV, B-11, C-1, D-III
3. A-IL. B-IV, C-1. D-III
4. A-I11, B-IV. C-I1, D-I

Options :

68634070937. 1
68634070938. 2
68634070939. 3
68634070940. 4

Question Number : 36 Question Id : 68634017962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The two types of blood stam patterns which may indicate the presence or location of an object are:

A. Transfer blood stains
B. Shadow pattern

C. Void areas

D. Volume of the blood

Choose the correct answer from the options given below:

1. B only

| )

. B and D only
3. C only

4. A and C only



Options :

68634070941. 1
68634070942. 2
68634070943. 3
68634070944. 4

Question Number : 36 Question Id : 68634017962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U] UiaeT & &1 PR S [ o &1 [Gemmar sruar safufa &1 iid s 9adi 2.3 7

A, TTHPBR & Ysdl
B. @1 Uid&=g

C. Y &F

D. 3gd 1 3Id-

i fau o faeredi § U 98l IR &1 904 BHifu;

1. $ad B
2. HIAB AR D
3.%adC
4. BAAA 3R C

Options :

68634070941. 1

68634070942, 2

68634070943. 3
68634070944. 4

Question Number : 37 Question Id : 68634017963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Section 299 of Indian Penal Code defines which of the following?
1. Murder

2. Suicide

LIPS ]

. Culpable Homicide
4. Negligent Homicide

Options :

68634070945. 1
68634070946. 2
68634070947. 3
68634070948. 4



Question Number : 37 Question Id : 68634017963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RO 2Us gigdr o YRT 200, Fafeaa i o swd g0

1. 8T
2. 3Bl
3, HTRIEPH T
4. SFIYT (SMEIEYT) Taay

Options :

68634070945. 1

68634070946. 2

68634070947. 3
68634070948. 4

Question Number : 38 Question Id : 68634017964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Photography is an important aid in scene of erime examination.

Statement IT: Photography can record the evidence on the crime scene which may be skipped by the eyes of
investigator.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect
4, Statement I is incorrect but Statement IT is correct

Options :

68634070949. 1

68634070950. 2

68634070951. 3
68634070952. 4

Question Number : 38 Question Id : 68634017964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁ%ra“lam?ﬁt{m%
BYF I: IR SRS 1 oifd § U Aecdyu e giad gidl g
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SWRIFd HYF & 3l H, =< 4T T f[ddhedi & I Hel Gov &1 99 Difoie:
1. FUA AR IS T
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3. BYT 1A &, AP FUA 11 3T ¢
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Options :

68634070949. 1
68634070950. 2
68634070951. 3
68634070952. 4

Question Number : 39 Question Id : 68634017965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Vitriol throwing comes under section 320 IPC.
Statement II: Throwing of acid on another individual is known as vitriolage.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect

3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634070953. 1
68634070954. 2
68634070955. 3
68634070956. 4

Question Number : 39 Question Id : 68634017965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A a1 By T U &:
FYTI: [9fCTa UET YR GUS el &I YR 320 P HHid a6 |
YT IL: [FT o9 fGd IR dola B @] el [afedias deald ol
SIRIGd BYA & Sfaid H, A ST T fasmeal 7 ¥ Het ST &1 98- DIoI;
1. PYT1 3R 11 ST T &
2. HY 1 IR 11 ST SR §

3. PYTI 9 8, AfhT YT 11 3T &

4 PYTI IS, AT DT I T B

Options :

68634070953. 1
68634070954 2
68634070955. 3
68634070956. 4

Question Number : 40 Question Id : 68634017966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Physical evidences collected at the crime scene may be utilized in forensic mvestigations in the following
meaningful areas:

A. Defining the element of crime

B. Providing investigative leads for a case

C. Linking a crime scene or a victim to a suspect
D. Linking only victim to the crime scene

E. Linking chain of custody.

Choose the correct answer from the options given below:
1. A and C only
2. A.DandE only
3.A.Band C only

4.B. D and E only

Options :

68634070957. 1
68634070958. 2
68634070959. 3
68634070960. 4



Question Number : 40 Question Id : 68634017966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tﬂ%@%%ﬁ%ﬁ@ﬁ%ﬁ%%%%@ﬁﬁmﬁm

A, 3TORTY T4l Ied (3HaTd) DI IRHIET B 1|

B. fopdl o018 AN R (WII-TSdld) ST US|

C. [ =Ty TS Hyar Uitsd &l (! 9iem I SireAT1 (Hag &)
D. #dd UifSd &I ORIy = H Sie-1 (Jdg B0

E. HMRET-4Ee Jiofd (SIS
i f4U 77U fasedl § 9 98l SR &1 99 St
1. %ad A 3R C
2. %I A.D AR E
3. P A BAHRC
4.%ad B.D R E

Options :

68634070957. 1
68634070958. 2
68634070959. 3
68634070960. 4

Question Number : 41 Question Id : 68634017967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The presence of watermarks in paper help a lot in investigation of erime.

Statement IT: Sources of paper and instances of anachronism are some of the important information which
can be deduced from it.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :
68634070961. 1
68634070962. 2



68634070963. 3
68634070964. 4

Question Number : 41 Question Id : 68634017967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYF L DI (UWR) H ST0-I5] BT U THT SR & S99 (o=) H 959 3M8e 988® sial gl

mwm@aqﬁwﬁm@%mwwwgﬁmwﬁmﬁ
Sl el

SWRIdd HYF & i J, 1= f3U T fawedi & I Fel 3ok &1 99 DIt
1. BYFI R I GHI T §
2. BYF 1 R 11 ST A &
3. BYT 1A ©, AP SU 11 3T &

4. BYTI 3T 8. AfpT YT 1 9d &

Options :

68634070961. 1
68634070962. 2
68634070963. 3
68634070964. 4

Question Number : 42 Question Id : 68634017968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Nut gall ink 1s also known as which of the following?
1. Chinese Ink
2. Indian Ink
3. Iron Ink
4. Copper Gall Ink
Options :
68634070965. 1
68634070966. 2

68634070967. 3
68634070968. 4

Question Number : 42 Question Id : 68634017968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Temd Wiel & Fafafiad g o am I f o e g
 A1gA1el Wgl
YR wTet

 TIE (3MRA) Wil

—

| )

[#5]

4. DI 7T WTE

Options :

68634070965. 1
68634070966. 2
68634070967. 3
68634070968. 4

Question Number : 43 Question Id : 68634017969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The writing strokes written by ball pen may have which of the following in determining the direction of
strokes?

1. Retouching

| )

. Burr straitions
3. Pen Pressure
4. Gooping

Options :

68634070969. 1
68634070970. 2
68634070971. 3
68634070972. 4

Question Number : 43 Question Id : 68634017969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



91 @ac HH ¥ [ T AR (ay) § de R 1 63 FyiRa &7 & A Tene da & 98
&1 faer= 81 9ol 82

1. g
Y enfat

[

L]

. PeiH-gld

s

Options :

68634070969. 1
68634070970. 2
68634070971. 3
68634070972. 4

Question Number : 44 Question Id : 68634017970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Gooping effect is found in writing strokes written with which of the following?

1. Fountain Pen

[

. Roller Pen
3. Ball Point Pen
4. Pencil
Options :
68634070973. 1
68634070974. 2

68634070975. 3
68634070976. 4

Question Number : 44 Question Id : 68634017970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeRaa o ¥ e ford! g5 @RI 1 TfUT gaTa Orn oIl 62
1. Brdca U
IR U=

[

L]

. did @REe uq
4. O

Options :



68634070973. 1
68634070974. 2
68634070975. 3
68634070976. 4

Question Number : 45 Question Id : 68634017971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Iodine fuming method is a non-destructive method to visualize the latent finger prints.
Reason R: Iodine has a property of sublimation.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R 18 NOT the correct explanation of A

3. A is true but R is false

4. A is not false but R is true

Options :

68634070977. 1
68634070978. 2
68634070979. 3
68634070980. 4

Question Number : 45 Question Id : 68634017971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 & YA AU 0 §, UF AU (Assertion A) P &9 1 ARG & T GHR1 3% BRI (Reason R) &
g H:

grf‘ﬂ-lﬂiuﬂa: STATSIA eI (WgfERT) [T 3=y Siyfel BT &1 exuHH $3 o U@ IR-aee [Afd
[

BRI R: TS § FHeaqTa &1 -4 e = giar g |

SRI DY & HTalid 1, H1d 2y 7Y fdeedi T I 99 Sugad SR &1 99 B
1. A SR R 31 981 § AR R. A P Hel oUraAT 8

A SRR M U6l § SRR, A DI Hel oA 761 &

AT AGTR IR TSR

ATEI TS g APTIR T ©

b2

L]

e



Options :

68634070977. 1
68634070978. 2
68634070979. 3
68634070980. 4

Question Number : 46 Question Id : 68634017972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A latent fingerprint developed with a fluorescent powder can be best imaged by which of the following?
1. U.V Radiation
2. L.R. Radiation
3. X-Rays
4. Visible light
Options :
68634070981. 1
68634070982. 2

68634070983. 3
68634070984. 4

Question Number : 46 Question Id : 68634017972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tpavg e 9ol 9 &1 3exy SFfaey $1 galide Suge oid FHifed o 9 fead s15 o 9ol 82
1. RIS fafepur
. 3favdd fafdur

[

T

4. TRYH HPIR

L]

Options :

68634070981. 1
68634070982. 2
68634070983. 3
68634070984. 4

Question Number : 47 Question Id : 68634017973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a digital camera, the image is captured on which of the following?

1. RAM

[

. ROM

L]

. CMOS
4. Pixel

Options :

68634070985. 1
68634070986. 2
68634070987. 3
68634070988. 4

Question Number : 47 Question Id : 68634017973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[

fafoea pav 8 Bfd Rgifea d Y ol adr 82

—

CHRUUH

| )

LR AT
I A
4. foadd

s

Options :

68634070985. 1
68634070986. 2
68634070987. 3
68634070988. 4

Question Number : 48 Question Id : 68634017974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fingerprints are considered infalliable mean of personal identification because of which of the following
reasons?

A. They are permanent

B. They are latent

C. They are unique

D. They can be duplicated successtully

Choose the correct answer from the options given below:
1. A only
2. Aand C only
3. Cand D only

4. B and C only

Options :

68634070989. 1
68634070990. 2
68634070991. 3
68634070992. 4

Question Number : 48 Question Id : 68634017974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

siTfferesTy &l Fifdd ¥ 4 fod SRUY {4 PRUN U Jafcds g $I 3 HIeH g°

ATarfigael
B. U 3W@c gl g

c. AfafRm g gl
D. 91 Uldfefy (Aufur aeaargde faar o 9edi g |

i fau 0 f[daredl | U Uel 3R &1 904 Big;
1. $ad A
2. A AR C
3.%ad C 3R D
4. PAB AR C

Options :

68634070989. 1
68634070990. 2
68634070991. 3
68634070992. 4




Question Number : 49 Question Id : 68634017975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A mixture of proteins consist of molecular weight of 80 kd. 60 kd, 35 kd. 25 kd and 10 kd will be separated by
gel exclusion chromatography in following order:

1. 10 kd. 25 kd. 80 kd. 60 kd. 35 kd

| )

. 80kd, 60kd. 35 kd. 25 kd. 10 kd
3.35kd. 25 kd. 10 kd. 60 kd. 80 kd
4,10 kd, 25 kd. 35 kd, 60 kd. 80 kd

Options :

68634070993. 1
68634070994. 2
68634070995. 3
68634070996. 4

Question Number : 49 Question Id : 68634017975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

80 kD. 60 kD. 35 kD, 25 kD3R 10 kD3Tf0ge HRaTd it & Y1 &1 giethor auieka gRT Fgifed
T T gYaeh U fehdl Su:;

1. 10 kD, 25 kD. 80 kD, 60 kD. 35 kD

2

.80 kD, 60 kD. 35 kD, 25 kD, 10 kD
3.35kD, 25kD. 10 kD, 60 kD, 80 kD
4. 10 kD, 25 kD. 35 kD, 60 kD. 80 kD

Options :

68634070993. 1
68634070994. 2
68634070995. 3
68634070996. 4

Question Number : 50 Question Id : 68634017976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PCR (reaction) has been linked to:

A. Is not sensitive procedure

B. Molecular photocopier and enables the exponential amplification of very small amount of DNA
C. It does not help to amplify DNA of a single cell

D. Analyse STR loci

E. The procedure cannot be multiplexed together.
Choose the correct answer from the options given below:

1. B only

b2

.B and D only
3. Aand C only
4. C and E only

Options :

68634070997. 1
68634070998. 2
68634070999. 3
68634071000. 4

Question Number : 50 Question Id : 68634017976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4t 9t 3R (3ifiiforam & §R H Hel HYU= &1 98- HIfoIT:

A. T8 3fq Y uferar gt g1

B. U8 JMUG® BITIGIUIR § 3R 399 31 U4 U Sl (e 01 &1 IuTdl & aH- gl el
C. U8 Uhd SIRIDI $ 31 07 TSP a7 & aged 7el glar g

D. SHYTH & 3R Y (STR loci) BT Taersr g1ar 81

E. 4 Uiehdl &1 U WY SgiHisd 7e! foal o §ear o |

i feu e fasedl § § U8l 3R &1 944 SIlT:
1. bdd B
B3RD
3.A3RC
4.C3RE
Options :
68634070997 1
68634070998. 2

68634070999. 3
68634071000. 4

b2



Question Number : 51 Question Id : 68634017977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence for the oxidation of glucose to produce ATP.

A. Electron transport chain
B. Krebs cycle

C. Glycolysis

D. Formation of acetyl CoA
E. Gluconeogenesis

Choose the correct answer from the options given below:
1.AB.C,D
2.B.C,D.E
3.C.D, B, A

4. E.D.C.B

Options :

68634071001. 1
68634071002. 2
68634071003. 3
68634071004. 4

Question Number : 51 Question Id : 68634017977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATP SF B3 & (A0 TSI $ ITd4 (STFHDHRN) & ol HH P 90 HITofU

A. SACH SIS #aa
B.bd IPh

- fau Y famedt & 9 Tel SR o 904 Sifvie:
1.LABCD
2.B.C,D.E
3.C,D.B.A
4.E.D.C.B
Options :
68634071001. 1

68634071002. 2
68634071003. 3



68634071004. 4

Question Number : 52 Question Id : 68634017978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Silver string method is for detection of:

A DNA

B. Protein

C. Carbohydrate
D. Lipid
E.ENA

Choose the correct answer from the options given below:

1. A.B. C only

| )

.A, B, E only
3.A.B.C.D only
4.A.B.D.E only

Options :

68634071005. 1

68634071006. 2

68634071007. 3
68634071008. 4

Question Number : 52 Question Id : 68634017978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥oid e o fafd o1 v Fifed o 9 s e Iy & e e &2
A.DNAGITATY)
B. UIcH
C. FlEfeRae
D. fafus
E. SIRUTY

i fou 7Tt fawedl © § 9El STR &1 997 Fifult:
1. PAAA. B. C
2. $dd A, B.E
3. PAUA.B.C.D

4. PAAA.B.D.E

Options :



68634071005. 1
68634071006. 2
68634071007. 3
68634071008. 4

Question Number : 53 Question Id : 68634017979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Preferably an airtight dry container 1s recommended as packing material for biological evidence.
Reason R: Air tight container may help avoiding any contamination.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 15 correct but R is not correct
4. A 1s not correct but R 1s correct

Options :

68634071009. 1
68634071010. 2
68634071011. 3
68634071012. 4

Question Number : 53 Question Id : 68634017979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gl YA AU T §, U SHIUDHUA (Assertion A) P & H [H1REd ¢ Al gERT 39 BRI (Reason R) &
U
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SWRIE HY & 3Tclie H, i fau Y fdeedl § 9 a8 Suged SR &1 90 SIfeT:
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A SRR M 6§ AR R. A D el R 81 §
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b2
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Options :

68634071009. 1
68634071010. 2
68634071011. 3
68634071012. 4

Question Number : 54 Question Id : 68634017980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which genetic loci 1s used for the sex determmation in humans?
1. THO 1
2. Amelogenin

3.FGA

4. TPOX

Options :

68634071013. 1
68634071014. 2
68634071015. 3
68634071016. 4

Question Number : 54 Question Id : 68634017980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
OHa & fim-FuRo g Faifed 3 9 e srefie faguy o1 v fear e g2

1L.ama 1

RUEGIEIIEE

TH Gl T
4. A1 Uiy

Options :

68634071013, 1

68634071014, 2

68634071015. 3
68634071016. 4

| )

L

Question Number : 55 Question Id : 68634017981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: D-loop in mitochondria tend to mutate with an extremely high frequency.

Reason R: The mutation rate in the mitochondrial DNA makes this region attractive for use in individual
identification.

In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

[ ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A is not correct but R is correct

Options :

68634071017. 1
68634071018. 2
68634071019. 3
68634071020. 4

Question Number : 55 Question Id : 68634017981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 &l YA (AU T §, Ud SHIHY (Assertion A) P &9 1 R & ol GHRT 39 BRI (Reason R) &
g H:

STUBYT A: ASCIHITSTT H D U= &I HgRi SATed o7 g Hied SdRakid o @1 sidl o
%ﬁ:ﬂﬁaﬁﬁﬁfm$ﬁwqﬁmﬁaﬂqﬁa%%%ﬂwﬁﬁmwﬁm%ﬁmwa
SURIG Y & 3HTaiid 1, H1d 2y 7Y fdeedi T I 9 Sugad SR &1 99 B

1. A SR R 3 961 € AR R. A Pl Tel AR §
A SRR M U6l § SRR, A DI Hel oA 761 &
AT AGTR IR TSR

4 ATEI IS g AT R WET B

Options :

68634071017. 1
68634071018. 2
68634071019. 3
68634071020. 4

b2

L]



Question Number : 56 Question Id : 68634017982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lactose intolerance is caused by:

1. Lack of lactose dehydrogenase

. Lack of pyruvate dehydrogenase

2

LFS]

. Lack of lipase
4. Lack of hexokinase

Options :

68634071021. 1
68634071022. 2
68634071023. 3
68634071024. 4

Question Number : 56 Question Id : 68634017982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
STl it SRR Fraifed # 9§ e 3 sRu e 2

1. Waci fSeeaiamdl @1 Pl

| ]

 U=de [Sergsifors &l Sl

 TIEUS & BHI

 RH@IgS Dl
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Options :

68634071021. 1
68634071022. 2
68634071023. 3
68634071024. 4

Question Number : 57 Question Id : 68634017983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Bertillonage is a technique used to which of the following?

1. Identification of living individual

b2

. Identification from Bones

L¥ 5]

. Identification of immediately dead person

4. Identification of skeletal remains



Options :

68634071025. 1
68634071026. 2
68634071027. 3
68634071028. 4

Question Number : 57 Question Id : 68634017983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gice-er ufafe o1 yar Feifea o 9 fog wared faar s g2
1. Siifad oaied &1 UgaH
. SifRyaT A ug=H

[

L]

. Td oiad &1 ggar
4. HFRY-GRIY DI UgdH

Options :

68634071025. 1
68634071026. 2
68634071027. 3
68634071028. 4

Question Number : 58 Question Id : 68634017984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If mother is A™ and father is also A*, the possible blood group in the child is:
1.A,AB. O
2.A,A0,0
3.A,0.B
4. AO.B. OB

Options :

68634071029. 1
68634071030. 2
68634071031. 3
68634071032. 4

Question Number : 58 Question Id : 68634017984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl ST A 8 SR o ot A* B, <1 T &1 7oy 5 JIE BIT:
1. T, U&l, 3

BRI

T, 3, o

U, o, st

[

L]

=S

Options :

68634071029. 1
68634071030. 2
68634071031. 3
68634071032. 4

Question Number : 59 Question Id : 68634017985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s preferred/commonly utilized for the detection of accelerants in fire debries in
forensic laboratories?

1. HPLC

| )

. GC
3. AAS
4. SEM

Options :

68634071033. 1
68634071034. 2
68634071035. 3
68634071036. 4

Question Number : 59 Question Id : 68634017985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634071033. 1
68634071034. 2
68634071035. 3
68634071036. 4

Question Number : 60 Question Id : 68634017986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which instrumental technique is best suited for the determination of group I and group II elements of periodic
table?

1. AFM

2. AES

3. Solvent extraction

4. UV-visible spectroscopy
Options :
68634071037. 1
68634071038. 2

68634071039. 3
68634071040. 4

Question Number : 60 Question Id : 68634017986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634071037. 1
68634071038. 2
68634071039. 3
68634071040. 4

Question Number : 61 Question Id : 68634017987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R.

Assertion A: In IR spectra, the fingerprint region is observed below 1500 em™! exhibit multiple absorption
caused by bending vibration.

Reason R: In fingerprint Region. the number of bending vibration is more than the stretching vibration.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

b2

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 15 correct but R is not correct

4, A is not correct but R is correct

Options :

68634071041. 1
68634071042. 2
68634071043. 3
68634071044. 4

Question Number : 61 Question Id : 68634017987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gl YA AU T §, U SHIUDHUA (Assertion A) P & H [H1REd ¢ Al gERT 39 BRI (Reason R) &
U
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Options :

68634071041. 1
68634071042. 2
68634071043. 3
68634071044. 4
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Question Number : 62 Question Id : 68634017988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rf value defines the movement of the analyte relative to the solvent front in a given chromatography system
and Rf value of analyte depends upon which of the following factor?

A. Mobile phase

B. Length of plate

C. Nature of Stationary phase
D. Temperature of analyte

E. Amount of mobile phase

Choose the correct answer from the options given below:

1. A.B. C only

2

.A, B, C.Donly
3. ABCDE

4.B,C, D, E only

Options :

68634071045. 1
68634071046. 2
68634071047. 3
68634071048. 4

Question Number : 62 Question Id : 68634017988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RETI ¥ ot faféy auf ot vt & faeimae @1 sangd [ o1 Saa uRyIfd 8ia1 § o
faeioe 1 R A i & 9 o wRel R R drar g

A, TTfaEie 3rawt
B. W &l dal5
C. Wafae

D. fa%eive (3{Uucy) &1 aiushy
E. Tfd2iel GeT T IRATT

+rd fau U faswedl § U el IR &1 994 Sifoid:
1. FAA A, B. C
2. BAAA.B.C.D

3. AB,.C,D.E

4. PAAB.C.D.E

Options :



68634071045. 1
68634071046. 2
68634071047. 3
68634071048. 4

Question Number : 63 Question Id : 68634017989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Comparison microscope 1. |5vnthetic fiber
B. [Transmission electron microscope| I |Y chromosome
C. [Fluorescence microscope 1. Matching of fired bullets|
D. |Polarizing microscope IV, [Ultrastructure of cell

Choose the correct answer from the options given below:

1. A-L. B-II. C-IV, D-III

| E)

AL B-IV. C-11. D-1
3. A-IL. B-1. C-II1, D-IV
4. A-IV, B-III. C-II. D-I

Options :

68634071049. 1
68634071050. 2
68634071051. 3
68634071052. 4

Question Number : 63 Question Id : 68634017989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-L. B-II. C-IV, D-III

| o

AL B-IV. C-I1. D-1
3. A-Il, B-1. C-III. D-IV
4. A-IV. B-11I. C-I1, D-I

Options :

68634071049. 1
68634071050. 2
68634071051. 3
68634071052. 4

Question Number : 64 Question Id : 68634017990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Chromophore 1. |Gas Chromatography (GC)
B. |Gasoline II. [Neutron activation Analvsis (NAA)
C. |Arsenic III. |UW/visible spectroscopy
D. /TR IV |Capillary electrophoresis

Choose the correct answer from the options given below:

1. A-II. B-IV, C-III. D-I

| )

CA-IV, B-III, C-I, D-I1

L

CA-IL B-II, C-IV. D-III
4. A-ITL, B-1. C-II. D-IV

Options :

68634071053. 1
68634071054. 2
68634071055. 3
68634071056. 4



Question Number : 64 Question Id : 68634017990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

TqaAT T Tt I
. [pEwR 1[4 auicE (o @)
e 11 [gels HiaH fa=eyur (U9 U Uy
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TOd IR |1V |5 [Aegaen R

FafaRad o eal © O 9gl SR & 994 DI

1. A-IL. B-IV, C-III. D-1

IR

|

. A-TV, B-III. C-1, D-I1
3. A-L B-IL. C-IV. D-III
4. A-I11, B-1, C-II. D-IV

Options :

68634071053. 1
68634071054. 2
68634071055. 3
68634071056. 4

Question Number : 65 Question Id : 68634017991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shift of absorption maxima towards longer wavelength due to presence of OH or NH, groups.This

phenomenon 1s known as:
1. Bathochromic Shift
2. Hyperchromic Shift
3. Blue Shift
4. Hypochromic Shift

Options :

68634071057. 1
68634071058. 2
68634071059. 3
68634071060. 4

Question Number : 65 Question Id : 68634017991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634071057. 1
68634071058. 2
68634071059. 3
68634071060. 4

Question Number : 66 Question Id : 68634017992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the detector 1s generally used in HPLC for detecting sugars after separation?

1. UV=visible

| B

. Fluorescence
3. Refractive Index

4, Electrochemical

Options :

68634071061. 1
68634071062. 2
68634071063. 3
68634071064. 4

Question Number : 66 Question Id : 68634017992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634071061. 1
68634071062. 2
68634071063. 3
68634071064. 4

Question Number : 67 Question Id : 68634017993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Forensic analysis of fibre 1s performed by

1. Light microscopy

b2

. Fluorescence microscope

LFS]

. Dark field microscope
4. Polarizing light microscope
Options :
68634071065. 1
68634071066. 2

68634071067. 3
68634071068. 4

Question Number : 67 Question Id : 68634017993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634071065. 1
68634071066. 2
68634071067. 3
68634071068. 4

Question Number : 68 Question Id : 68634017994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amino acid separated in two dimensional planar chromatography can be visualised preferably by spraying
which of the following reagent?

1. Todine vapour

2. Sulphuric acid

3. Nmhydrin reagent
4. Rhodamine B

Options :

68634071069. 1
68634071070. 2
68634071071. 3
68634071072. 4

Question Number : 68 Question Id : 68634017994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad O &9 siietde & fssea & bawasd f§-smamd 9aqae quica 8 guaed sl
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Options :

68634071069. 1
68634071070. 2
68634071071. 3
68634071072. 4

=Y

Question Number : 69 Question Id : 68634017995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Scopalamine. a common warfare agent, falls in which category based on its mechanism?

1. Choking agent

[ B

. Vesicanting agent
3. Nerve agent
4. Incapacitating agent
Options :
68634071073. 1
68634071074. 2

68634071075. 3
68634071076. 4

Question Number : 69 Question Id : 68634017995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U T 4G U UTd WHIarasi-. S9! [ehariafd & suR o g 4ot § omar g2

1. WeRIYA (@I FHD

2. TPICHR HUD

3. dfer Hd®

4. Froeds oHe
Options :
68634071073. 1
68634071074. 2

68634071075. 3
68634071076. 4

Question Number : 70 Question Id : 68634017996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which detector is preferably used for the analysis of pesticides in Gas chromatography?
1. Differential thermal conductivity detector (DTCD)
2. Electron capture detector (ECD)
3. Flame ionization detector (FID)
4. UV-visible

Options :
68634071077. 1



68634071078. 2
68634071079. 3
68634071080. 4

Question Number : 70 Question Id : 68634017996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. RIS €0HqH
Options :
68634071077. 1
63634071078. 2

68634071079. 3
68634071080. 4
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Question Number : 71 Question Id : 68634017997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which cells secretes epinephrine and nor-repinephrine hormones?

1. Ovary

[

. Gonadotrops
3. Zona fasciculata

4. Chromaffin cells

Options :

68634071081. 1
68634071082. 2
68634071083. 3
68634071084. 4

Question Number : 71 Question Id : 68634017997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634071081 1

68634071082. 2

68634071083. 3
68634071084. 4

=

Question Number : 72 Question Id : 68634017998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The dead body. already buried. if required to be exhumed for forensic investigation, who among these is
authorised to permit for exhumation?

1. Directorate of Health - services

| )

. SDM
3. Thehsildar
4. In-charge of graveyard

Options :

68634071085. 1
68634071086. 2
68634071087. 3
68634071088. 4

Question Number : 72 Question Id : 68634017998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634071085. 1
68634071086. 2
68634071087. 3
68634071088. 4

Question Number : 73 Question Id : 68634017999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Joule burn 1s observed in
1. Thermal injury
2. Electrocution
3. Radiation injury
4. Lightning injury
Options :
68634071089. 1
68634071090. 2

68634071091. 3
68634071092. 4

Question Number : 73 Question Id : 68634017999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634071089. 1
68634071090. 2
68634071091. 3
68634071092. 4

Question Number : 74 Question Id : 68634018000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tests performed for confirmation of carbon monoxide (CO) poisoning are:

A. Kunkel's test

B. Wetzel test

C. Hoppe-Seyler's test
D. Lee-Jones test

E. Wenzell's test

Choose the correct answer from the options given below:
1. A. B only
2. A, B, Conly
3.A.B.C.Donly

4.B.C.D.E only

Options :

68634071093. 1
68634071094. 2
68634071095. 3
68634071096. 4

Question Number : 74 Question Id : 68634018000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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i fou 7Tt fawedl © § 9El STR &1 997 Fifult:
1. PAUA. B
2. $ad A, B.C
3. PAT A, B.C.D
4. $AUB. C,D.E

Options :

68634071093. 1
68634071094. 2
68634071095. 3
68634071096. 4

Question Number : 75 Question Id : 68634018001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Traits used to determine the characteristics of a male from human pelvic bone.

Match List I with List IT

LISTI LISTII
A |Pelvis in general 1. |Not present or shallow
B. |Sciatic notch II. [Large
C. JAcetabulum (hip socket)| III. [Rugged
D. [Sub-pubic concavity IV, |Narrow

Choose the correct answer from the options given below:

1. A-I. B-I'V. C-II, D-III

|

AL B-IIL C-1L D-IV
3. A-III, B-IV, C-II, D-I
4. A-I1. B-1. C-IV, D-III

Options :

68634071097. 1

68634071098. 2
68634071099. 3



68634071100. 4

Question Number : 75 Question Id : 68634018001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

T I T 1T
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1. A-I. B-I'V. C-II, D-III

|

CA-IL B-I1L. C-1. D-IV
3. A-IIL B-IV. C-I1, D-I
4. A-II. B-1. C-IV. D-III

Options :

68634071097. 1

68634071098. 2

68634071099. 3
68634071100. 4

Question Number : 76 Question Id : 68634018002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Cadaveric spasm in non-burnt body is observed:

A. Immediately after death

B. After two hours of death

C. After six hours of death

D. After twelve hours of death

E. After twenty four hours of death

Choose the correct answer from the options given below:
1. A only
2. A, Conly
3.B. C only
4.D. E only

Options :
68634071101. 1



68634071102. 2
68634071103. 3
68634071104. 4

Question Number : 76 Question Id : 68634018002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3{g™ ¥1a § ¥1d UsH od Uféd gial g°
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1. dd A
2. HAd A, C
3. Had B, C

4. FAAD.E

Options :

68634071101. 1
68634071102. 2
68634071103. 3
68634071104. 4

Question Number : 77 Question Id : 68634018003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 15 labelled as Reason R.
Assertion A: Argemone Mexicana seed oil consumption causes epidemic dropsy.

Reason R: Argemone Mexicana seed oil contains alkoloid sanguinarine and dihydrasanguinerine which is
responsible for hyper secretary glucome. the main symptom of epidemic dropsy.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| )

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R is correct

Options :

68634071105. 1
68634071106. 2



68634071107. 3
68634071108. 4

Question Number : 77 Question Id : 68634018003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634071105. 1
68634071106. 2
68634071107. 3
68634071108. 4
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Question Number : 78 Question Id : 68634018004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
. |[Neurotoxin I. |Boa constrictor

[Vasculotoxin II. |Cobra

Musculotoxin | IIL [Viper
A sphyvxia IV. |Sea snake

SR EE

Choose the correct answer from the options given below:

1. A-II. B-IV, C-III. D-I

| ]

AL B-I1, C-IV, D-1

L]

A-IL B-III. C-IV, D-1

4. A-IV. B-1. C-III, D-II



Options :

68634071109. 1
68634071110. 2
68634071111. 3
68634071112. 4

Question Number : 78 Question Id : 68634018004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

TqaT 1 T I
FRieiEsa | 1L [ aiwaeR
depaleligd | I [@laxl
A aleligy | IIL

EIERES
Rpfeam | 1v. o 9d (@5 m)
fAafaRad foweal & O Ot SO &1 994 Difog -

1. A-IL. B-IV, C-III. D-1

IR

|

AL B-I1L C-IV, D-1
3. A-IT, B-III. C-IV. D-I
4. A-IV. B-1, C-III. D-II

Options :

68634071109. 1
68634071110. 2
68634071111. 3
68634071112. 4

Question Number : 79 Question Id : 68634018005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The term "Speedballs" is used for the combination of?

1. Heroin and Strychnine
2. Cannabis and clonazepam
3. Brown Sugar and Cocaine
4. Cannabis and LSD

Options :

68634071113. 1

68634071114. 2

68634071115.3
68634071116. 4



Question Number : 79 Question Id : 68634018005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el Us FHifed 7 ¥ g Sgio @ o vgad siar o7
1. U5 3R e
2. P IR FIAUE
3. 9139 R 3R S
4. BEY 3R TAUAS!

Options :

68634071113. 1
68634071114. 2
68634071115. 3
68634071116. 4

Question Number : 80 Question Id : 68634018006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sharp force injury refers to injuries caused by:
A. Knives
B. Hockey sticks
C. Ice-picks

D. Axes
E. Pistol

Choose the correct answer from the options given below:

1. A.B.E only

[ ]

A, C,E only
3.A.C.Donly

4.B.D. E only

Options :

68634071117. 1
68634071118. 2
68634071119. 3
68634071120. 4

Question Number : 80 Question Id : 68634018006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oI e § g uTd (Y B SoRl) @1 argd FHifdd § 9 fa-g S1ikd 91a 9 8:

A TR
B.go! fe®

C. H=y Uy
D. PeelSl
E. fUsdra
i fou 7Tt fawedl © § 9El STR &1 997 Fifult:
1. A A, B.E
2. BAAA.C.E
3. HAdA.C.D

4. ®HGAB.D.E

Options :

68634071117. 1
68634071118. 2
68634071119. 3
68634071120. 4

Question Number : 81 Question Id : 68634018007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

. . : 2n
Statement I: The standard equation for stationary waves is given by ( v =2gcos— xsinmt )
’ A

Statement IT: The standard equation for stationary wave is given by y = 2a sinot
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

| )

. Both Statement I and Statement IT are false
3. Statement I is correct but Statement IT is false

4, Statement I is incorrect but Statement IT is true

Options :

68634071121. 1
68634071122.2
68634071123. 3
68634071124. 4



Question Number : 81 Question Id : 68634018007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HYA AU U §, UF @Y (Assertion A) P =9 [Ed § T g8 39% BRI (Reason R) &
0T

HTUHUT A: R T & fow gHe i y=2c1c082—nxsin ot 3 Sfiera P Sar |
A

PRI R: fRR IR & [0 A THER y = 2a sinot § 0T B0 I@1 5
SIS Y & HTaile |, i< f3u U fdeedi T I 98 Suged STk &1 99 S

1. A SRR EHI Hel § SRR, A DI Ug! ARAT §

2. A SR R I W8T € SRR, A T Ot e el ©
3 AT R PR TR IS

4L ATEI TR g AfbTR TSI ©

Options :

68634071121. 1
68634071122.2
68634071123. 3
68634071124. 4

Question Number : 82 Question Id : 68634018008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: The law of areas states that the line that joins any planet to the sun sweeps equal areas in equal
intervals of time.

Reason R: The law comes from the observation that planet appears to move slower when they are farther from
the sun than when they are nearer.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R 1s correct
Options :
68634071125. 1

68634071126. 2
68634071127. 3



68634071128. 4

Question Number : 82 Question Id : 68634018008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gl YA AU T §, U SHIUDHUA (Assertion A) P & H [H1REd ¢ Al gERT 39 BRI (Reason R) &
U

STUBYT A: &7 0T (@ 3P TRaTe)) ¥ 3w ¢ (o [l U o 9y 4 SisHard ¥al 99 o
U 99 &3 ygde sidl gl

BRI R: I8 HU0 8 Y01 ¥ 30 g1 © o g 9 9 Auiaid g & ga1 4 94 9 g o dlesn 4
3Hf¥ep il 1 I T Sl gl Uald gidl 6|

SWRIE Y & 3Tclie H, i fu Y fdeedl § 9 968 3uged SR &1 904 SIfeT:
1. A ¥R R 3 961 € AR R, A D! T8l RS 8

A SRR M 6§ AR R. A D el R 81 §

AT AR TH AL

4, AEI TR g AfPT R WS ©

Options :

68634071125. 1
68634071126. 2
68634071127. 3
68634071128. 4

b2

Laa

Question Number : 83 Question Id : 68634018009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: A stone pf mass m tied to the end of a string revolves in a vertical circle of radius R. The net
force at the lowest point of the circle directed vertically downwards will be given by mg-T;. where T 1s

tension at the lowest point.
Statement IT: A stone of mass m tied to the end of a string revolves in a vertical circle of radius R. The net
force at the highest point of the circle directed vertically downwards will be given by mg+T, where T, is the

tension at the highest point.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is correct but Statement IT is false

4, Statement I is incorrect but Statement IT is true

Options :



68634071129. 1
68634071130. 2
68634071131. 3
68634071132. 4

Question Number : 83 Question Id : 68634018009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 31 By fRU U
DY I: [l T & BR I 4T §311 M Go4HH dTal Bl UTNIY (e8] R & Sw@ier gd § guid S g1 9d
& ey fog W FHad ggd o - @1 21§ Sealer U 3 Wad 8idl ¢ me-T; §RT FR=MUd faar s

T8l T, @1 AU Mo ffg Wa a9 5l
B II: [l T & BR A FUT §3H M SoaqH aTal Sig Uil FHe8] R & Iw@ieR ga 3 guld sxar g1 gd
& Sy famg &R Fad g S - 31 1320 1 I@ier 9 9 Uad 81dl 6. mg+T, I FR=1Ud (a1 o1 6,

TRl T, 9 iRy farg R 99 sifimd g

SWRIdd BYF & 3l H, =< 4T T fddwedi & I el Gov &I 99 DIfoie:
1. FYI ARG T &

YT AR GHI A §

HYTIII e, Al YT 3 &

[

L]

4. BYT] IS, AT PUT I TA B

Options :

68634071129. 1
68634071130. 2
68634071131. 3
68634071132. 4

Question Number : 84 Question Id : 68634018010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Two beams of light from a coherent sources may give rise to complete darkness if path

: . *
difference between them 1s (2n+ 1)= whenn=10.1.2...
2

Statement IT: Two beams of light from an incoherent sources may give rise to complete brightness if path
difference between them is nx whenn=10.1.2...
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

| )

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4, Statement I is incorrect but Statement IT is correct

Options :

68634071133. 1
68634071134. 2
68634071135. 3
68634071136. 4

Question Number : 84 Question Id : 68634018010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- ql ey fau e g
®Y I: [l Wged Hid 9 &1 WerR (v Yot ¥ quid: $ftR1 81 9abal © aid 3+ did ariey

SITRTe (20 + 1)% Weln=0.12.. ¢l

B 11 [T e 9 9 < e e 0o & gufa: 99% Saw 8 9ol § afg $Hd s At
&mn‘(fﬁ. Giﬁnz 0.1.2... %l

IRIGd FU & ATaiD 5, A fEu 0 fawedi 3 9 98l IO &1 99 DIl
1. PYTIAR IS 9§
2. HYT1 AR SHT ST S

3 PYTI IS AT P I EA ®

4. YT . AP PUT I IT &

Options :

68634071133. 1
68634071134. 2
68634071135. 3
68634071136. 4

Question Number : 85 Question Id : 68634018011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
. |Planck’s constant I M
Work Function II. H=z

de-broglic wavelength| IT1. s
. [Threshold frequency |IV. [T

ol Fo] o] g

Choose the correct answer from the options given below:

1. A-III, B-IV. C-1. D-II

| ]

CA-TL B-III, C-IV, D-I1
3. A-IV, B-I1, C-1, D-III
4. A-I1. B-IV. C-I, D-III

Options :

68634071137. 1
68634071138. 2
68634071139. 3
68634071140. 4

Question Number : 85 Question Id : 68634018011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
T 1 g1
A. [ FHadie I M
B. [® HeH 1L [Hz
C. [[Eare aures| L s
D. [IRfH® 3mgiiy |1v. |
fFrafeiad fasedl o 9 98l Gk &1 98- S -

1. A-III. B-IV. C-1. D-II

| o

A-LL B-IIIL C-IV, D-I1
3. A-IV. B-1I, C-1. D-III
4. A-I1. B-IV. C-1. D-III

Options :

68634071137. 1
68634071138. 2
68634071139. 3
68634071140. 4



Question Number : 86 Question Id : 68634018012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A compound microscope consists of two convex lenses of focal length 0.02 m and 0.15 m. An object 1s placed
at a distance of 0.025 m from the object glass and the final image 1s formed at the least distance of distinct
vision. What is the magnification produced and the distance between the lenses?

1.10.46 and 0.1937 m

| )

. 10.66 and 0.1937 m
3.10.66 and 0.1793 m

4. 1046 and 0.1793 m

Options :

68634071141. 1
68634071142. 2
68634071143. 3
68634071144. 4

Question Number : 86 Question Id : 68634018012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e GEAeR 7 0.02 m 3R 0.15 m FBIeH G4 & &l SR a9 &id | TIS-T0 9 0.025 m &1 g3l W Blg
aﬁm"raﬁr%gﬁ? Jifew ufafes fafaw =20 @ 9ed o0 8 W =1 © 1 S 3maefq 3R Hf ol &
e &l g3 &1 82

1. 10.46 3R 0.1937 m

.10.66 3R 0.1937 m

| )

.10.66 31X 0.1793 m

L

4.10.46 3 0.1793 m

Options :

68634071141. 1
68634071142. 2
68634071143. 3
68634071144. 4

Question Number : 87 Question Id : 68634018013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

1ISTI LISTII
X -rays I |0.78 - 300 pm
Ultravielet ravs| II. 0.1 - 100 A°
[Visible light | TIT |180 - 400 nm
Infrared rayvs | IV. [700 nm to 400 nm|

ofo[w>

Choose the correct answer from the options given below:
1. A-I. B-III. C-II. D-IV
2. A-IL B-III. C-IV, D-I
3. A-IIL B-II. C-IV, D-1
4. A-1. B-IIL. C-IV. D-II

Options :

68634071145. 1
68634071146. 2
68634071147. 3
68634071148. 4

Question Number : 87 Question Id : 68634018013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

TqE I g I
e 1 [0.78 - 300 um
QT fdeol| I fo.1- 100 %A
FROH U | 111 [180 - 400 nm
[erawaa faezot [1v 700 nm T 400 and

FafaiRad foseal © O Uel 3T &l 944 DI

1. A-L. B-III. C-I1. D-IV

PIREIE

| B)

. A-ILL B-III. C-IV. D-1
3. A-IIT, B-11. C-IV. D-I
4, A-L B-III. C-IV, D-II

Options :

68634071145. 1
68634071146. 2
68634071147. 3
68634071148. 4



Question Number : 88 Question Id : 68634018014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Number of photo electrons emitted per second is directly proportional to the intensity of incident
radiation.

Reason R: The photocurrent increases upon increasing the intensity of incident radiation.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| )

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A iz not correct but R is correct

Options :

68634071149. 1
68634071150. 2
68634071151. 3
68634071152. 4

Question Number : 88 Question Id : 68634018014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 & YA AU U §, UF SAf@ YT (Assertion A) P &9 1 ARG & T G8R1 3% BRI (Reason R) &
0T

aﬁ?wa:ﬁmmﬁhmzﬁa@ﬁﬁwmw&maﬂﬁtﬁw
PRI R: AHRID () f&8fHR07 31 digd 967 R BIeide (FHTRI UR) d&dl 8l
QRIS BYH & HTclid 1, A1 f3U U fdsedi T I 9 Sugad STk &1 94 S

1. A SRR &I 98l § SIRR. A D! Ugl ARAT &

2. A SR R I W8T € SR R, A &1 Ot o el §

3 AT R PR TR IS

4 ATS TR g AT R TSI ©

Options :

68634071149. 1
68634071150. 2
68634071151. 3
68634071152. 4




Question Number : 89 Question Id : 68634018015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The angular speed of a motor wheel 1s increased from 1200 rpm to 3120 rpm in 16 seconds. What 1s its
angular acceleration, assuming the acceleration to be uniform?

1. 1m rad/s®

_ I
. 2w rad/s”

| )

3. 3m rad/s?
4. 47 rad/s®

Options :

68634071153. 1
68634071154. 2
68634071155. 3
68634071156. 4

Question Number : 89 Question Id : 68634018015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W%W%Wﬁmﬁlﬁmﬁlmﬂ Ipm@FmSllO 1pm§°ﬁﬁﬁ%l?ﬁﬁmﬁ
e @R TP GAM § d1 PTG &=l /a1 g

1. 1z rad/s?

| o

. 2n rad/s?
3. 37 rad/s?
4. 47 rad/s?

Options :

68634071153. 1
68634071154. 2
68634071155. 3
68634071156. 4

Question Number : 90 Question Id : 68634018016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two cars are moving in the same direction with the same speed with separation 40 M. In order to overtake. the
driver of the second car accelerates and he overtakes the first car in 5 seconds. What is the acceleration
produced by the accelerator?

1.1.2m/s?

2

2.22m/s
5 o

3.32m/s
5 2

4. 42m/s

Options :

68634071157 1
68634071158. 2
68634071159. 3
68634071160. 4

Question Number : 90 Question Id : 68634018016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G PR 40 M GYeh T6h= FHIH Tl T FH7 faxn & Faferd 81361 &1 SR 9 31 b & iy TRl R
mwaamﬁm% 3R 98 5 9%Us § Ugdl ®R I 1 Aed wrar g1 Ut g2 ¥ e gRI 3dd
AU 1 87

1.1.2m/s?
2.2.2m /s
3.3.2m /s
4. 4.2 m /s

Options :

68634071157. 1
68634071158. 2
68634071159. 3
68634071160. 4

Question Number : 91 Question Id : 68634018017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following complex 1s spin forbidden?

—

[TiClg>

[

. [CoBry]*

Lad

 [V(H,0)6*
4. [Mn(H,0)s]*"

Options :

68634071161. 1
68634071162. 2
68634071163. 3
68634071164. 4

Question Number : 91 Question Id : 68634018017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad siH-ar iy 9w gg fAfte 82

[TiCl]*

—

| ]

. [CoBry
3. [V(H,0)6]""
4. [Mn(H,0)¢]*"

Options :

68634071161. 1
68634071162. 2
68634071163. 3
68634071164. 4

Question Number : 92 Question Id : 68634018018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o NaCN, H,S0,,
What will be Product of the following reaction >_ O H,0 4

1. €N

| )

OH
%on

CN

4,

3. >/\0n
CN
>— CN

Options :

68634071165. 1
68634071166. 2
68634071167. 3
68634071168. 4

Question Number : 92 Question Id : 68634018018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafead sifufchar o uidwa aar s

>: 5 NaCN, 112504 g
H 20

OH

. >iou
CN
7 >/\0n
CN
>—c‘::\r

[ B)

4.

Options :

68634071165. 1
68634071166. 2
68634071167. 3
68634071168. 4

Question Number : 93 Question Id : 68634018019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following carbony compound 1s most hydrated?

&

(0]
+ )
H H
O
3 I.l El':l
Cl
£ cl
0]
4. F; LI Ea-‘
E F
F I
Options :

68634071169. 1
68634071170. 2
68634071171. 3
68634071172. 4

Question Number : 93 Question Id : 68634018019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafaa & 3 oH-a1 sl Gife galfie Soged sare?
O

b2

H
cl

J Nl
H Cl

'F

0
H
0
O
.
I F
F I
Options :

68634071169. 1



68634071170. 2
68634071171. 3
68634071172. 4

Question Number : 94 Question Id : 68634018020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the imncorrect one from the following:

1. Excitation: Sothv — S,

| B

. Fluorescence: Si — So + hvl

3. Internal Conversion: $; —T,

e

. Phosphorescence quenching: Ty +M — So + M

Options :

68634071173. 1
68634071174. 2
68634071175. 3
68634071176. 4

Question Number : 94 Question Id : 68634018020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rrgffad & & Tad @ 9RT
1. FTo: So+hv — Sq
2, T Xdiia: si— So + hv!

3. F ;a: EE:q ;E EDI Sl —}Tl

4. BIREGREY (PRE RIS A T; + M — So+ M

Options :

68634071173. 1
68634071174. 2
68634071175. 3
68634071176. 4

Question Number : 95 Question Id : 68634018021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the spin state and nature of Fe?™ ion in oxyhaemoglobin?

1. Fe?™ - low spin, diamagnetic
2. Fe?™ - high spin, diamagnetic
3. Fe?™ - low spin, paramagnetic
4. Fe®™ - high spin, paramagnetic

Options :

68634071177. 1

68634071178. 2

68634071179. 3
68634071180. 4

Question Number : 95 Question Id : 68634018021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JadieanaifaT § Fe2™ 3T & I U1 3G U4 W& o] 87

1. Fe?™ - 9 Teh Ul 3IIaoh 1y

2. Fe?™ - 3 I UL, @Y

3. Fe’™ - Y Iop U1, W1
4.F*™ - I Ip Ul RIS

Options :

68634071177. 1
68634071178.2
68634071179. 3
68634071180. 4

Question Number : 96 Question Id : 68634018022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Ion Dipole Moment
A s I. .73
B. Mn™ II. [0.00
C. oot III. |3.87
D. [cu?* IV |5.92

Choose the correct answer from the options given below:

1. A-II. B-IV, C-III. D-I

| )

A-IV, B-1I, C-III. D-1
3. A-IL B-IV. C-1. D-III
4. A-IV, B-1I. C-1. D-III

Options :

68634071181. 1
68634071182. 2
68634071183. 3
68634071184. 4

Question Number : 96 Question Id : 68634018022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife
T 1 Gl
ST faya sl
A s 1 1.73
B. P2~ L. |0.00
C. log2* 1 [3.87
D. |cu2* IV |5.92
FafaiRad foweal § O 9gl STk & 904 SIiol

1. A-II. B-IV, C-III. D-I

2. A-IV. B-1I, C-I11, D-I

3. A-IL B-IV, C-1, D-III

4, A-IV, B-11, C-1, D-III
Options :

68634071181. 1
68634071182.2



68634071183. 3
68634071184. 4

Question Number : 97 Question Id : 68634018023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: The crystal structure of CrF, is tetragonally distorted.

Reason R: Cr*™ is octahedrally surrounded by six F~, and there are four Cr-F bonds of length 1.98-2.01A° and
two longer bonds of length 2.43A°.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R is not correct

4, A is not correct but R is correct

Options :

68634071185. 1
68634071186. 2
68634071187. 3
68634071188. 4

Question Number : 97 Question Id : 68634018023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gl YA AU T §, U SHIUDHUA (Assertion A) P & H [H1REd ¢ Al gERT 39 BRI (Reason R) &
U

SHTUBYT A: C:F, B! [sheed T=a-1, Aqspiviiy [a=iud gl g

PRUIR: (12~ BEF R IVEHAH Y T4 § bR gt 8. 3R 59H 1.98-2.01A° GE1E & IR Cr-F 8¢ 3R
2.43A° € & 41 99 (§9) §Y Bid &

SWRIT DY & 3HTalld 1, H1d 2y 7Y fdeedi T I 968 Uy SR &1 99 S
1. A SR R 3 981 § AR R. A P He! R 8
2. A SR R G 981 § 3R R. AP Hel IR 6l &
3.ATEI AT R T TS
4 ATS TR APIRTEI 8

Options :
68634071185. 1
68634071186. 2



68634071187. 3
68634071188. 4

Question Number : 98 Question Id : 68634018024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: The dipole moment of N, and O, molecules is zero.

Reason R: The molecules are spherically symmetrical.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

[ ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A is not correct but R is correct

Options :

68634071189. 1
68634071190. 2
68634071191. 3
68634071192. 4

Question Number : 98 Question Id : 68634018024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 & YA AU 0 §, UF AU (Assertion A) P &9 1 ARG & T GHR1 3% BRI (Reason R) &
g H:

AFUBYT A: ATZCIoH N, R HTRfeH 0, T fEya o ga e 2|
HRT R: UM &Y Y GHAE G 6 |
SWIK Py & 3Taiie H, = fau Y fdeedl § 9 968 3ugdd SR &1 90 BIfod:
1. A R R 3 961 € AR R A D! 8l RSN §
2. A SRR G HEl § IR R. A DI U8l oI 7181 &
3 AT R AfpT R Tt i R
4 AT T g APIRTBI &

Options :

68634071189. 1
68634071190. 2
68634071191. 3
68634071192. 4




Question Number : 99 Question Id : 68634018025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In mass spectra, the peak of °Cl and *7Cl appears in the ratio 1:1.
Statement IT:In mass spectra, the peak of phenyl ring appears at 72.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct and Statement IT is incorrect

4. Statement I is incorrect and Statement IT is correct

Options :

68634071193. 1
68634071194. 2
68634071195. 3
68634071196. 4

Question Number : 99 Question Id : 68634018025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gl YA AU T §, U SHIUDHUA (Assertion A) P & H [H1REd ¢ Al gERT 39 BRI (Reason R) &
U

HFUPHYT A: SoamH Wael § °¢1 &R 3701 31 W & o urd 3§ fdar usars|
PRI R: ToOHH Wael § {hga aad &1 MY 72 R fGarE gsar sl
SWRI BYH & HTeild B, A4 23U U fdsedi § I 9 Suged 3Tk &1 99 S
1. A SRR G Hel § SR R. A D! Ugl ARAT §
2. A SR R Al W8T € ST R, A T Ot o 7T ©
3 ATSI R PR TR IS
4. AGEI TR AP R WEH ®
Options :
68634071193. 1
68634071194. 2

68634071195. 3
68634071196. 4

Question Number : 100 Question Id : 68634018026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The increasing order of acid strength of the following

CH,. NH;. H,0, HF is:

1. CH, < NH; <H,0 <HF

| )

: CH4 = NH3 = H:O > HF
3. CHy < NH; <HF <H,0
4. H,O0 <CH4 <HN3 <HF

Options :

68634071197. 1

68634071198. 2

68634071199. 3
68634071200. 4

Question Number : 100 Question Id : 68634018026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fifhd @1 S Uaadl &1 ARis! B JTd D1 -
CH... NH;. H,0. HF is;

1. CH, <NH, <H,0 <HF

[ ]

; CH_1 = N_.H'_:' = H20 =HF
3. CH, < NH; < HF <H,0
4.H,0 < CH, < HN, <HF

Options :

68634071197. 1
68634071198. 2
68634071199. 3
68634071200. 4



